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PART 1 (60 marks)

For each question from 1 to 30, four options ate given. One of therr is the correct answer. Make
your choice (1, 2, 3 or 4). Shade the correct oval (1, 2. 3 or 4) on the Optical Answer Sheet.

1 The properties of different types of matenals were tested ard the resuls are shown in the
table below.

Property Material A | Material B | Material C | Material D |
Strong__ Yes Yes No ' No |
Flexible No No Yes No 5
Lightweight | No Yes Yes No

Waterproof | No Yes Yas " Yes |

Jenny needs to choose a suitable material 10 maks a cor.iainzr that can 2old
10 litres of water. Which material shouid she choose?

1) Material A
2) Material B

3) Material C
4) Matenal D e

2 Study the classification chart below. It shows some characizastics of znimals in groups
A, B, Cand D. o :
Animaz:s
A B | C D
Lay eggs Give birth G.ne birs Lineges
No outer covering Have scales H:ve ha:-s =zve scales
Breathe through Breathe througi B-zathe tnroo:n -2athe through
their skin and their gills thzor lunzz Z=ir ghils
lungs
Which amimals could A, B, C and D be’
F e 5 T T
X | Frog Guppy | Rabb:t ; (fiss
2) | Frog Catfish I Rabb:: : Copr- _
X)|Toad  ISnake — ipes EE
A [Lizard [ Goldfish —Tiger Mo
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Study the flow chart carctully.

Is the materal
waterproof?

No

l Yes

Allows light to
pass through

to pass througk

Allows magne: :

force . No

l Yes

B

’ Yes

53

What could material A, B, C and D be?

A B C D ! .
1) | Cloth : Aluminium | Sieel Glass ..
2) | Cloth | Glass . Aluminiur  Steel [
3) | Steel Aluminium : Glass lotr. '
4) | Wood Plasuc P Sl .ron |
Jim discovers that when a nail sticks to a magne: : (oo =som2s 2 magnet.

He set up the experiment below. X and Y repel e:.- oth=r.

-

What is the correct naming ot the poles at X ana

1)
2)
3)
4)

X Y B
north south :
north north
south south
south north |
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. FA - Fe 1ron Fe wooé)
woo& {ron ool

A 8 c D

The 4 blocks shown above are of the same size. A true statement is

1) Force D is less than Force C

2) C would require the least force to move

3) A and D would require the same force to move

4) Force C 1s more than Force D but less than Force A

A 500g load was pullsd v= 2 ramp using a spring balance as shown in the diagram

above. The force was then measured. The experiment was then repeated but the angie
of inclination (X°) was incrzased by 5° each time. Which one of the following graphs
shows the results of th.2 ex-zriment?. - -

n Effort 4 3) Esfort 4
s
e
e
s
¢ L7 . 0 S
Angie of nelimziion (X°) Angle of Inclination (X®)
2)  Effort 4 4)  Ciiot A
|

! /s
i / /
/
! . V
0.7 . 0 >
Angleof [mclmznion (XP)

Angle of Inclination (X°)
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Below is a cross-section of a pond. The place

A.B,Cand D. -

N\ — ,
\
\ s?/%/

\Which ¢ne ol the following correctly indicates a plant that can be found at each place?

s in the pond where the plants are found are

._ A B C D
1 hedrilla sedge mosquito fern tape grass
2+ c:bomba cattail water hvacinth arrowhead
21 ! water banana Jotus water fettuce algae
+: water gentian | water lilv water moss fem | elodea

Which cne o< the following correctly shows the classification of Earth’s natural

resocrees?

¢

b N:z-ural resources

|

Norn-living

L}
! Living
[

l

Wildare !
Renewable

Non-Renewable

|
Natural Cras

Wood

3) Natural resources
[
L |
Living Non-living
] [
Iron | _
Renewable Non-Renewable
1 I
Coal Water

Non-Renewable

Petroleumn

2) | Nauural resources 4) Natural resources
: I
T LT . — -
Living .’ Non-living Living Non-living
: ! |
{ Qand ' ] Trees l |
San Renewable Non-Renewable Renewable
_Soil Natural Gas Oxygen
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9

Tom set up the experiment shown below to find out whether woodlice prefer conditions
that are dark and wet. He placed 15 woodlice in the middle of each tube.

Tube A

Tube B

Tube C

Tube D

AN D

A4 4 HD
IR XG> D i <D

A D D

A0 -5 4D S
D XD 4D P B

AP AP AD Y
AR AT I D
A 0 D T

KEY

I@ W dark cover

dry cotton wool
@ wel cotton wool

A 4D FD
ADPpDAD T
S D G <D P

Afier a while, the number of woodlice that had moved to each end was counted.
Which results show that woodlice prefer dark and wet conditions?

1) Number of woodlice
! Tube Wet Dry
A 5 10
B 7 8
C 4 11
D 9 6
2) Number of woodhce
. Tube Wet Dry
COA 7 S |
B 7 h
S R
D [ 9 o

3) Number of woodlice
Tube ;  Wet Dry
A 10 5
B 8 7
C 11 4
D 9 6
4) Number of woodlice -
Tube Wet Dry
A 10 5
B 6 9
C 5 10
D 5 10
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10 Study the food web below.

F

C ;\\‘

\A - B
N\

»
>

How many food chains can be found in the food web?

D4 3)6
2) S 4) 7
11 There are 7 frogs, 24 grasshoppers, 2 pythons and 6 snails in a tank. Which one of
the following shows the most likely numbers of each of them after one day?
L Frog Grasshopper Python Snatil

1) 3 6 2 6

2) 4 24 S

3) 5 14 2 4

4y | 7 12 1 4

Study the diagrams below carefully. These birds have special features to enable them to

look for food..

1)
2)
3)
4)

2N

‘i"\\v\?“T\
A C D
What types of food do the 4 birds, A, B, C and D eat?

Bird A Bird B Bird C Bird D
Seeds Shrimps Insects Other animals
Insects Fish Seeds Other animals
Insects Other animals Nectar Shrimps
Other animals Nectar Fish Seeds

6
wWwWW misskoh.com

44 of 918.

—



13

14

The classification table below shows how some plants with weak stems are adapted for

climbing to get maximum sunlight.

P Q R S
Which one of the following can be put in P, Q, R and S respectively?
p Q R S
epper blue pea carpel grass water melon
pumpkin maiden’s jealousy | monev plant Rattan palm
passion flower bean plant sweet potato rose
Honolulu creeper | strawberry vy mimosa

What are the advantages of gencuically modified organisms?

A
B:
C

:

Plants with weak stems

Drought-resistant plants

Plants susceptible to diseases
Produce plants with a high yield
Improve the quality of food from moditied oianss

1} A and B oaly
2) Cand D onlv

www. misskoh. ¢

A. C and D only

3)
4) A, B, Cand D only
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16

17

The diagram below shows the life cycle of a buttertly.

Adult

Pupa

_— ~~ e
\ Larva | &~ /

Which one of the following groups of animals has a similar life cycle as the butterfly?

1) Hen, frog, cockroach

2) Moth, mosquito, dragonfly

3) Bee, housefly, mealworm beetle

4) Dragonfly, cockroach, grasshopper

Amy crushed a ping pong ball and it became dented. However, no air escaped while she
was doing 11. This experiment shows thart air

A takes up space

B: can be compressed

C: has no definite shape

D: has no definite volume

1) B only 3) B.Cand D only
2) B and C only 4) All the above

If objects, A, B and C form the Lunar Eclipse, which object is likely to represent planet

Earth?
s
/B (E\
\

1) A only 3) Conly

2) Bonly 4) All are possible

Yww.misskoh. com
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19

20

21

Observe the following picture.

The above cell cannot make its own food because

A: it does not have a regular shape

B: the cell membrane is present

C: the cell contains cytoplasm

D: 1t does not contain chloroplasts

1) Donly 3) A, Band Conly
2) B and C only 4) All the above

The animals below are grouped according to where the eggs are fernlized.

Internal Fertilisation External Fertilisation
Rabbit Frogs
Ostrich ’ Salmon
3 Crocodile Catfish

Which one of the following animals fertilise their eggs externaliy?
1) Snake 3) Penguin

2) Turtle 4) Salamander

[dentify the parts of the body where digestive juice can be found.
A) guilet D} small intestine

B} mouth E) large intestiae

C) stomach

Uy Aonly HRB. Cand D

2y A,Band C 4) All of the above

Oxygen can enter our body threugh ow nese. Which part o7 the plan: allows ez~on
dioxide to enter the plant?

1) stem 3) leaves

2) buds 4 flowers

4
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23

24

Observe the diagram.

The arrows in the diagram show the movement of to a:il pz—s of the plant.
1) food 3} oxygen
2) water 4) carbon diox:ie

Which of the following statements are true?

A Blood rich in oxygen leaves the lungs and flovs to the zart.

B The heart pumps blood rich in carbon dioxidz back to 12 lungs.

C The veins that run from all parts of the body 1 the hear: :arry blocz rich in |, .
oxygen.

D The veins that run from all parts of the body cirry tiooc nich in cz77on dioxtde

to the heart.

1) A and B only %) Cand D onl:.
2) B and C only 4) A, Band D caly

In the circuit below, which bulb/s will remain lightec ‘+hen bult O fuss?

Bulb A Bulb B

=Y 3
Bulb C Bu:E
Bulb D
1) Aonly 3) A, B, Cand E only
2) A,Band Conly 4) None of the tulbs will »:zht up
10
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25 Observe the circuit below.

S ®
P2 Bualb
Swiil
|
1 ! —0
Plastic
switch
C .=
/ 22
o7 Z
| P
1 F
The bulb will light up wien switch ¢s is/are closed.
1) silver only 3) copper and silver only
2) copper only 4).¢opper, plastic 2nd silver
26
Hot water Cold water
X°C . Y °C
- ‘
!
Beaker ’ v Beaker B
“ ~r= Mixture ot hot and cold water
— | from Beaker A and Beaker B
Bzixer C

Beaker A and Beaker B ¢ »nizin equal amounts of water. When the water in Beaker A
and Beaker B is pourad i=10 Reaker C, the temperature ¢ the water in Beaker C will be

1) less than Y °C

2) more than X °C

3) more than X °C znd less :7an Y °C
4) more than Y °C znd l=ss :2an X °C
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27
glucose + oxygen —— >  water + carbon dioxide 4 ¢nergy

When does the reaction process shown above take place?

1) All the time 33 In the absence of light
2) Only during the dayv 4) In the presence of light
28 The diagram shows five possible pathways for the transfer of energy from green plants

to Man. Which pathway transfers the most energy to Man?

Insects *—— | Green plants | —¥ | Insects
- l - l
Bird \\"
irds Fish
‘ Cows
v N J, l
Man Man Man Man
{n (2) (3) 4)
29
Group X Group Y Group Z
Fan Doorbell Computer monitor

The objects above are ¢.assizied according to the form; of energy they produced when
in use. Which of te fol.ow:nyg objects zan be placed in Groups X, Y and Z.2

Group X Grouvp Y Group 2
1) Lamp i Cake mixer Rice Cooker
2) Elecinc dnll .* Radio : Lamp
3) Cake mixer Lamp E.sctmic typewriter
4) Electric iron i Telephone Television
12
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30

renewable, pollution free

Which of the following energy source satisfy all the above conditions?

A Fossil Fuels

B Tidal energy

C Nuclear energy

D Geothermal energy

1) Aand C 3) Cand D
2) Band D 4) B,Cand D

13
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Name : _ « ) Class : Pn‘manﬁ .

PART 11 (40 marks)

Write your answers to questions 31 to 46 in this booklet.

31  The table below shows how some matenals have been classified based on certain property.

GROUP A GROUP B
Silver Steel
Copper Cobalt
Aluminium Nickel
1) i1)
a) List down one suitabfe heading for the two groups. )
Group A e ~ Group B:
b) Give another example of a material under Group A and Group’fB. Fill in the answer In
the table above. (1) - S
32
=

Tim released a ball from the top of a slope and measured the time it took to reach the
bottom. He carned out the expeniment on 4 different surfaces. He repeated the
experiment 4 times on each surface. The following table shows his results.

Surface | I*'Rcading 2 Reading | 3 Reading 4™ Reading
W 15 15 K E
X 16 5 13 14
Y 26 25 ! 24 27
Tz R 0 1w 31

a) (n which surface did the ball travel the fastest? (1)

b) Give oue reason why Tim carried out the experiment 4 times for each surface. (1)

| 7
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33 a) Stwudy the diagrams below carefully.

A ’ B

load 2kg load 2kg

load 2kg\ | load ) ke
SR Y
/\ /\

Arrange the masses of the loads in ascending order. Write the letters in the boxes
provided. (1)

BN

b} The set of scales shown below is balanced.

/ /
stnng __——"
< 20cmy 0em —ep 60 cm rod
| —

string
m 6 ke weight

The mass of Load Pis

——— (N

~
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o soit A . soil B
H-cotton wool cotton wool

soil C sail D
- cotton woo! cotton ool

water —t: ater —
= waler = S water wate
(___\ A=A

An equal amount of water is added to 4 funnels which contain the same
amount of soil. The amount of water collected in each case is shown above.

a) Which soil absorbs the most water? n

b) What is the relationship between the air spaces in the soil and the amcunt of
water collected? (2)

¢) Which soil is most suiteblc “or a plant which grows well in a dry and sandy
habitat? (1)

P —

35 The picture below shows a k- raroo. Some of the features are labellzd.

small eyes at side of heaZ

hind limbs _
long and strong

Complete the table below by cxplaining how zach of the features of the }:zngarco Ez.os
it to survive. (2) - - )

Featre ) How This Helps The Kzogaroo

a) | Small cyes at the side ef its head |

b) | Long and strong hinu legs !
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36 Foxes cat rabbits. The following graph shows the changes in the populations of foxes
and rabbits in Habitat X over a three-year period.

N w-=-—--rabbits
Number of
rabbits and
foxes

Years

a) Explain why an increase in the number of cabb:ts 1s followed by an increase in
the number of foxes. Q)]

b) Explain why the increases in the fox population do not happen at exactly the same
time as increases in the rabbit population. (1)

¢) Explain why decreases in the fox population do not happen at exactly the same
time as decreases in the rabbit population. O

37 The table below shaws the height of a plant over 5 weeks.

Week 1 2 3 4
Height(cm) 3 6 12

~
% KU/

a) What do you think was happening to the plant at week 5? (1)

) www.Imisskoh.com 56.4f 618.
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A
37 1 N
Amount of Amount of
water sunt: 2nt
> Number of I Number of
- 7 weeks >
(2 2 43 2 3 4 5 weeks
A A
Amour: oY
Amount minersls T \_-~"
of air
Numbe- of Number of
v wazeks | s 3 4 5 »  weeks

b) Based on the information given abor @ what 2o - Hu think caused the height of the
plant to decrease? (2)

38 The table below contains informat.or: or: so 2 plane:s.
Planet Distence from. 172 < .n 7:m: iaken to orbit the
{ri.ifon < Sun (days)
Mercury 58 38
Venus 108 225
Earth : _ 150 ) -~
Mars 228 687 1
Jupiter "78 ) - 4380 |
Satum (25 o i 10950
Uranus %67 30660
Neplune <=07 o 60225
Pluto 3914 90885

a) Based on the infonmation 1o the zable. 21~ ne g -3+ 2 reason why there are no living

things on Pluto? (2)

b) Ifow many revelutions would Femhizie ind 27 > 2nn the time Uranus takes to

make vne revolution® 1 2)

]
6
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39 Study the classificatior chari.

~iving Tr:ngs

Man)i Cells One Cell
Fungi Amocba
Paramecium Bacteria
Bread Mould Euglena

a) One of the organisms in the <.agram has been ciassified wrongly. Identify the
organism. (1)

—

b) Name another organism tha: -:s only one cell. (1)

40
. L/
S_garcane Balsam

Mother cut off part of ;5= suza . zne siern and balsam stem as shown in the diagram. She
removed the roots 2né "2aves o7 zich plant. She planted them side-by-side in the ground.
For two weeks. she waizred =27 zlants and ncurished them with nutrtents.

a) What will happen < 2oth nz ©.ants? (D)

b) Give a reason 10 yoLT ans'~¢r (1

www.misskoh.com
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41 May has to choose a suitable method to cultivate a fruit tree which takes at least 8 years
for the tree to bear flowers. The method she chooses has to preserve the sweetness of the -
parent plant.

a) Suggest one method she can use (0 propagate the tree quickly. (1)

b) Suggest another plant that can be propagated by the same method as the one
mentioned in 41a. 0]

42 Study the graph below. It shows the pulse rate (number of heartbeats per min) of a girl
involved in different activities.

10 A
95 +

Number of 9¢

neanbeats 85 L\

permin 80 & / B
75
70
65

60
35 |

~———_D

Time in minues

a  Which line most L:kely represents the heartbeat oi the girl running a 100m race? (1)

b Which line most likely represents the heartbeat of thi girl cooling down from the
race? (D

¢ Looking at line D. what do you think the girl is doing? (1)

| 4
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43 Study the diagram carefuily.

a) ldentify the part where food is digested and pas::J inito the blood vessels. (1)

_ !

—_— - —_————— —_—

b) David complains o7 corstipation. Draw an arror. :0 show where undigested food is
stored. (1)

44 Observe the circuit shown on the right carefully.

Bulb A Bulb B
3V 3V

a) I you are allowed £o chznge one thing in the cir:it. what would you change in order
to maximize the brightness of Bulo A7 (1)

www._missiko_h-com 80 of618.
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44 b) Draw your new circuit in the box below. (1)

I~

LI LY

green parts

non-green parts

James plucked a leat from a variegated plant which had been kept in bright
stniight for 3 days.

2) Name the substance in the leaf required for photosynthesis. (1)

») In which pant of the above leaf is the substance idemntified in (a) present? (1)

2+ What happens whzn iodine solution 1s added to the decolourized leaf of the
above plunt? (y ~ h :

74

tate the energy com ersion that takes place in each of the following cases:

z Launching of i space shuttle (I

~ {reneraton of eleciric eneray in nuclear power stations (1)

; e
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SINGAPORE CHINESE GIRLS SCROOL

PRELIMINARY EXAMINATION 2004 QY.

PRIMARY 6

SCIENCE

01. 2 1. 1 21. 3

02. 1 12. 1 22. 2

03. 2 13, () 23. 4

04. 3 14.  (3) 24, 3

05. (1 15. 3 25 3

0s. 4 16.  (3) 26. 4

7. (7 7. (2 27. ()

08. 4 18. 1 8. (2)

09. 3 19. 4 29 (2)

1. 3 20. 3 30. 2

31) a) nom—magnetic Magnetic
b) 1) gold ii) iron

32) a) Surface X

b) To conirm the results of the experiment.
23) a’ D A c B

b 12 kg
34) a; Soil A

b When the air spaces in the soil increases the amount
of water collected also increases.

c. Soil D
35) 2. Allow it to see its surroundings to look out for predators
Help it jump and escape quickly.

20) a) If the number of rabbits increases, there would be more
foecd for the fox tc eat and so, it increases.

5 There is an interval of time before youngs can be born.
c¢. Foxes do not die from the lack of food.
Y7) a) The plants have wilted and was dying.

5) There was not enough water and sunlight so the height
of plant decreased.

83) ay Pluto is furthest away from the sun so there is no heat
or light there.

L2

2 34

Paramecium

L
\O
N
$Y)

5} Yeast _ )
ww.misgkoh-com 682 31‘ 818.
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40)

41)

42)

43)

44)

45)

46)

a)

b)

a)
b)
a)
b)
c)

a)
b)

a)

b)

a)
b)

c)

a)

b)

Balsam will die while sugarcane will grow into a new

plant.

Sugarcane can propogate from stem cutting but balsam

cannot,

Cut part of the stem and plant it,.
Rose

A

C

Sleeping

Small intestine

}\/

Arrangement of batteries
1l|

gy 1.5V
Chlorophyll

Green parts

Iodine on green parts turn dark blue.
green parts remain unchanged.

potential energy —--- kinetic energy

+ sound energy.

Jodine on non-

heat + light

potential energy ---- heat energy ---- kinetic energy —-—-

electrical energy
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